
To find r, divide a 
number in the 

sequence by the 
previous number.
2

1
= 2 and 

4

2
= 2, so 

r = 2.
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If the number 
you multiply by is 

the SAME or 
CONSTANT, then 
the sequence is 

GEOMETRIC.



What happens when r changes from 2 to 3?
Do the terms stay the same?

The terms in the sequence will be different.  They will increase more 
rapidly.

Yes.  The common ratio remains constant.

1,  3,  9,  27, 81



What happens to the sequence when r is 
1

3
?  Do 

the terms stay the same?

The terms will be different.  The sequence will decrease.

Yes.  The common ratio remains constant.



Skip Problem 6.

The sequence alternatively increases and decreases because the sign changes 
with every other number.

What happens when r is −2?  Do the terms stay 
the same?

Yes.  The common ratio remains constant.

Look at the sequences on pages 
225 and 227.



Now let’s look at each of those and find the common ratio.
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Look at the sequences on pages 225 and 227.


